EARAROBEEIERT — 2 N— IBISH —F

2015564290 (B) 6EI%H#1H

mﬂﬁ%B 3#8 B3 45%—M% (xwlw | lmEmml - |5 5) wom 8
[AE£] 1% :155,000” ~ 2#%:31,000”  3#%&:16,000M  4%&:0MH / 5&:0M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. EHEKRE :27. -1-1- . — 1R — (512)
1 4 b—J—Hq> 4 5 a5 1(2_7)5 1-1-1-1 | 37.6 1 <5+011) ook A
Ry THEZAVF— BN EhF)— fiErse]
S0 = i 4 | RERZ 1:28.2 3-4-2-2 |37.4| — 3 425 | WIRIBR (55H2)
2 H 8 ToJIVART > 34_0 3) +3) (@A) J PN?;E?T
Ri*xfavkR—-5— B:3ATH¥FvI— a0%%
= . 4 5 | KERES 1:28.7 4-3-3-3 [38.0| — 2 444 | FTRILEE (5542)
s 2| VY=Y v Tl 54.0 2 1/2) (-8) T
L:Yv=>e374L6 B:YvZoO-—422X FEHE {iBh
IUTINGN 4 _E ALt : 55— — MTEA (BEE)
4055 ) NILEF W 4 5 feoko 1(.72%8 5-5-5-5 | 37.6 5 ;1:154) Em%&ﬁ
L:xF21=gr—X B:URMLITAY HiE  ERA
. 4 6 | WTHZ 1:29.4 2-2-3-4 [38.9| — 8 432 | LURIBA (55HR)
5 6l bI1F— ¥53.0 3) ) K27
L:xrinao— B:xvr7107523 SHEG
5 S5O RS 4 5 | toEEE 1:29.8 6-6-6-6 |38.6| — 4 460 | BEEHER (5212)
6177 P Ly B2 56.0 & @ i ) 7],\_;(;7,
L:Tv AT by h— BXXARYyDa BT 7 — L
i 509 st 7 | Bl 1:30.1 7-7-7-7 | 38.3| — 6 449 | BREE (5)
]3 JN=7TaYT 56.0 (11/2) +3) W Tr-xhETas
LT RIAYAY -2 Biy—HA RTY-X (B) #HBa-FKL—va>AET7
- K 4 8 | BEXS 1:31.7 8-8-8-8 [39.2| — 7 430 | BEHIEA (542)
gl1l1|=v1m/%k 2620 A ) | ) -7
R:T7IRAFYLIL BAROFAEL—FT 1 R %5
@ 1—F—@&BIEf
13=zr= 4,6,8,2,5,7,3,1
Aol=5r= 4,6,2,8,5,7,3,1
G§a=7r= 4,8,(2,6),5,7,3,1
43—+ — 4,8,2,6,5,7,3,1
[ RN
B OB 4 110M 714K 4-8 120H B E 4-8 200M &R 2-4-8 260M
% B 4 100M 2-4 140@ | | B B 4-8 240 | | SHEE 4-8-2 570M
8 1204 2-8 240M
2 1009

ABICOVWTRDTEEERROODE. TR LIV,



